[bookmark: _GoBack]Problem 1
x + 2y +2z = 5   (1)
3x - 3y + 4z = 4 (2)
2x + 4y - 3z = 3 (3)
Using equation (1) and (2) to eliminate x, we multiply equation (1) by -3;
-3x - 6y - 6z = -15
3x - 3y + 4z = 4
Adding them together;
-9y -2z = -11 (4)
Then using equation (2) and (3) to eliminate x, we multiply (2) by 2 and (3) by -3;
6x - 6y + 8z = 8
-6x - 12y + 9z = -9
Adding them together;
-18y + 17z = -1 (5)
Solving equation (4) and (5) by elimination, we multiply (4) by -2;
18y + 4z = 22
-18y + 17z = -1 
On adding them;
21y=21 or y=1
Substituting y=1 in equation (5);
-18(1) + 17z = -1 or 17z=17 or z=1
Substituting the values of y and z in equation (1);
x + 2(1) + 2(1) = 5, x=5-4 or x=1
Checking in the equations;
x + 2y + 2z = 5 
1 + 2(1) + 2(1) = 5
1 + 2 + 2 = 5
5=5


3x -3y + 4z = 4 
3(1) - 3(1) + 4(1) = 4
3 – 3 + 4 = 4
4=4
2x + 4y - 3z = 3 
2(1) + 4(1) - 3(1) = 3
2 + 4 – 3 = 3
3=3
The solution is x=1, y=1, z=1.
Problem 2:
2x + 3y - z = 5 (1)
3x -2y + 3z = 8 (2)
4x + 5y -2z = 8 (3)
We use equation (1) and (2) to eliminate x by multiplying (1) by 3 and (2) by -2;
6x + 9y - 3z = 15
-6x + 4y -6z = -16
Adding them together;
13y -9z = -1 (4)
Using (2) and (3) to eliminate x, we multiply (2) by 4 and (3) by -3;
12x - 8y + 12z = 32
-12x- 15y + 6z = -24
On adding them;
-23y + 18z = 8 (5) 
We multiply (4) by 23 and (5) by 13;
299x - 207z = - 23
-299x + 234z= 104 
Adding them together;
27z=81 or z=3



Substituting z=3 in (4);
13y - 9(3) = -1
13y = 26 or y=2
Solving for x from (1);
2x + 3(2) - 3 = 5
2x = 5-3
2x=2 or x=1
Checking in the equations;
2x + 3y - z = 5 
2(1) + 3(2) – 3 = 5
2 + 6 – 3 = 5
5=5
3x - 2y + 3z = 8 
3(1) - 2(2) +3(3) = 8
3 – 4 + 9 = 8
8=8
4x + 5y -2z = 8
4(1) + 5(2) -2(3) = 8
4 + 10 – 6 = 8
8=8
Therefore, the solution is x=1, y=2, z=3.

 







